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ST JULIE CATHOLIC PRIMARY SCHOOL
MISSION STATEMENT:
A caring, family school where we learn, grow and walk in the footsteps of Jesus.






In consequence of our school mission it is a fundamental aim of St. Julie’s to be an inclusive school. To be a school which:
· Is a caring community
· Provides and respects equal opportunities
· Offers partnership between school parents and parish
· Reflects upon the teachings of Christ and puts them into practice
· Values all of the school community
· Its members show respect for themselves, each other and their learning environment

We define an inclusive school as one where…
· Everyone, irrespective of age, gender, ability or disability, race or religion is encouraged and given equal opportunity to participate in the full life of the school
· All members of the school community are given the opportunity and support to achieve their true potential
· All members of the school community, and the contributions they make to the life of the school, are valued; everyone is treated with mutual respect, care and consideration 
· Everyone feels empowered to play a full an effective role in the school.


Intent


 At St. Julie we aim to inspire all children to reach their full academic potential. In mathematics this means ensuring a curriculum that is fully inclusive of all children which: 
· Develops children’s knowledge and understanding of Mathematical concepts whilst enabling them to practice and hone skills and methods 
· Enables them to think critically and communicate their understanding
· Gives them opportunities to apply learnt mathematical skills in different contexts across the curriculum
· Provides opportunities to develop problem solving skills useful for maths and across the curriculum 

This policy is set within the context of the school’s vision, aims and policy on teaching and learning. As a result of their learning in mathematics and problem solving across the curriculum children will: 
· Be prepared for applying their skills effectively in everyday life situations, in their future learning and in the work place 
· Have the building blocks in place and to provide a solid foundation to lead onto secondary, further and higher education 

The purpose of mathematics in our school is to develop:

· A positive attitude towards mathematics and an awareness of the relevance of
mathematics in the real world
· Competence and confidence in mathematical knowledge, concepts and skills
· An ability to solve problems, to reason, to think logically and to work systematically and accurately
· Initiative and an ability to work both independently and in cooperation with others
· Confident communication of maths where pupils ask an answer questions, openly share work and learn from mistakes
· An ability to use and apply mathematics across the curriculum and in real life
· An understanding of mathematics through a process of enquiry and investigation




Calculation Policy Introduction

INTRODUCTION
This calculation policy has been written in line with the programmes of study taken from the National Curriculum for Mathematics 2014. It provides guidance on appropriate calculation methods and progression. Please note that early learning in number and calculation in Reception follows the ‘Development Matters’ EYFS document, and this calculation policy is designed to build on progressively from the content and methods established in the Early Years Foundation Stage.

AIMS OF THE POLICY
· To ensure consistency and progression in our approach to calculation.
· To ensure that children develop an efficient, reliable, formal written method of calculation for all operations.
· To ensure that children can use these methods accurately with confidence and understanding.

HOW TO USE THIS POLICY
· Use this policy as the basis of your planning but ensure you use previous or following years’ guidance to allow personalised learning.
· Always use Assessment For Learning to identify suitable next steps in calculation for groups of children.
· If, at any time children are making significant errors, return to the previous stage in calculation.
· Always use suitable resources, models and images to support children’s understanding of calculation and place value, as appropriate.
· Encourage children to make sensible choices about the methods they use when solving problems.

PROVIDING A CONTEXT FOR CALCULATION
It is important that any type of calculation is given real life context or problems solving approach to help build children’s understanding of the purpose of calculation, and to help them recognise when to use certain operations and methods when faced with problems. This should be a priority within calculation lessons.



CHOOSING A CALCULATION METHOD
Children need to be taught and encouraged to use the following processes in deciding what approach they will take to a calculation, to ensure they select the most appropriate method for the numbers involved:
They will do this by asking themselves:
Can I do this in my head?
Can I do this in my head using drawings or jottings?  
Do I need to use a pencil and paper procedure?
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Column Addition-no exchange:

132
+145

132
132 +145
s o

132 145

‘We line up the ones: 2 ones
plus 5 ones equals 7 ones.

We line up the tens: 3 tens
and 4 tens equals 7 tens.

We line up the hundreds: 1
hundred plus 1 hundred
equals 2 hundreds.”

2 ones plus 5 ones is equal
to 7 ones.

3tens plus 4 tens is equal to
7 tens.

1 hundred plus 1 hundred is
equal to 2 hundreds.”

NCETM Mastery Professional Development Material

tps://www.ncetm_org.ukiresources/50640 1.20
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Column Addition with exchange:

137
+145
282

137
145
282

137

145

137
+145
282

I the column sum is equal
t0 10 or more, we must
regroup.”

7 ones plus 5 ones is equal
to 12 ones.

I regroup 12 ones into 1 ten
and 2 ones and place the 10
in the tens column.

3 tens plus 4 tens plus 1 ten
is equal to 8 tens.

1 hundred plus 1 hundred is
equal to 2 hundreds.”

NCETM Mastery Professional Development Materials: hitps:/www.ncetm.org.uk/resources/50640 1.20
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Calculation: Subtraction

Key language: minus, subiract, take away, left less than, difference, fewer, decrease, part, whole, equal to, column, partition, value, worth, ones, tens,

hundreds

Key representations: Base 10, bead strings, multlink, counters, Numicon, bar model, number lines, ten frames, fingers, place value counters, 100 square

oe 0NN NY
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Concrete Pictorial Abstract | Stem Sentences
Reduction: Take away
7-4=3 7-4=3 7-4=3 ‘First..._ then... now”

First Jack had 7 sweets.
Then he ate 4.

Now he has 3 sweets left.
7 minus 4 equals 3.

NCETM Mastery Professional Development Materials: hitps-//www ncetm org uk/resources/50640 1.6
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Count back

‘Count back 4 from 7.

“The difference between 8
and5is 3.

“The difference between 5
and 8is 3.

‘3 is the difference between
8and 5.’

NCETM Mastery Professional Development Materials: hitps-//www.ncetm org uk/resources/50640 1.12
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Bridging through 10-to support mental
subtraction

12-4=
12-2-2=

12-4 12-4
12-2-2 12°2-

"IN

2 2

First | use my knowiedge of
place value to decide what

needs to be subiracted from
12 to make a multiple of 10.

1 partition 4 into 2 and 2.

Then 12 minus 2 is equal to
10.

1use my knowledge of number
‘bonds fo 10 to calculate 10
minus 2.

10 minus 2 s equal to 8.

So 12 minus 4 is equal to 8."

NCETM Mastery Professional Development Materi

https-//www.ncetm org uk/resources/50640 1.11

Partitioning and Recombining- to
support mental subtraction

36-12=

Take away/
remove 12

]z
N\
/ oo

1B

36-12= 26-12=

6-2=4

20+4=24

30-10=20

“First, | subtract the fens.
3 tens minus 1 ten is equal
to 2tens.

Then | subtract the ones.
6 ones minus 2 ones is

equal to 4 ones.

2tens and 4 ones is equal
to24”

NCETM Mastery Professional Development Material:

htps://www.ncetm org ukiresources/50640 1.16
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Column Subtraction-no exchange:

247
- 25

247
125

247

125 B

Take away/
remove 125

247
125
122

‘We line up the ones: 7 ones
minus 5 ones equals 2
ones.

We line up the tens: 4 tens
‘minus 2 tens equals 2 tens.

We line up the hundreds: 2
hundreds minus 1 hundred
equals 1 hundred.’

7 ones minus 5 ones is
equal to 2 ones.

4 tens minus 2 tens is equal
to 2tens.

2 hundreds minus 1
hundred is equal to 1
hundred.”

NCETM Mastery Professional Development Materials: htips://www.ncetm_org.uk/resources/50640 121
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Column Subtraction with exchange:

235 235
26
- 8 - 118 _ 118

- 17

Toor T B

235

l 118 7

Take away!
remove 118

5 ones minus 8 ones...we
need to exchange 1 ten for
10 ones.

15 ones minus 8 ones is
equal to 7 ones.

2tens minus 1 ten is equal
to 1 ten.

2 hundreds minus 1 hundred
is equal fo 1 hundred.”

NCETM Mastery Professional Development Materials: hitps-//www ncetm org uk/resources/50640 1.21
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Calculation: Multiplica

Key language: double, imes, multiplied by, product, groups of, lots of, equal groups, amays, factor, multiple, partition, commutative, column, value, multiple

Key representations: place value counters, base 10, bead strings, multilink, counters, Numicon, bar model, number line

0000 @0 0 08—

Concrete Pictorial Abstract Stem Sentences
Equal groups:
3x4=12 3x4=12 = “There are __ equal
4+4+4=12 4+4+4=12 3x4=12 groups.
4+4+4=12

There are __ in each
group.

There are __ equal groups
of "

I there are __ equal
groups, we can use the __
times table.’

NCETM Mastery Professional Development Materials: hitps://www ncetm.org.uk/resources/52830 2.2
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Arrays to show commutativity:

3x4=4x3
4+4+44=3+3+3+3

3groupsof4 =  4groupsof3

4

3x4=4x3
+4+4=3+3+3+3

3x4=4x3
4+4+4=3+3+3+3

I can see 3 groups of 4
and I can see 4 groups of
b

‘3 times 4 can represent 3
groups of 4.

It can also represent 4
fimes 3.”

I there are __ equal
groups, we can use the __
times table.”

NCETM Mastery Professional Development

Is: https//www.ncetm_org.uk/resources/52830 2.5

Partition to multiply:

3x15=

H e H
e

3x10 + 3x5

3x15=

10

| 10 [5]5]5

o

3x15=

3x10=30
3x5=15
30 +15=45

x| 10 | 5
3|30 |15

15 is equal to 10 plus 5.

So 3 times 15 is equal to 3
times 10 plus 3 times 5.”
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NCETM Mastery Professional Development Materials: hitps://www.ncetm_org.uk/resources/52830 2.14

Multiply by 10:

13x10= 13x10=130
*_ multiplied by 10 is
100 10s 1s equalto__’
1 3
1 3 0 *_is ten times the size
of
oo ] 3] ] o] s 0] ] 307

NCETM Mastery Professional Development Materials: hitps:/www ncetm_org.uk/resources/52830 2.13
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23x3=

23x3= “First we multiply the ones
and then we multply the
tens. We add those
z z 23 products together.”
7
10s 1s ’ X3
! :: : %
0 + 9
NCETM Mastery Professional Development Materials: Nips./www.ncetm.orq uklresources/52830 2.14
Shortmu n: 2 digit by 1 digit with
exchange
“First we multiply the ones
34x4= 34x4= 34x4= and then we multiply the
tens. We add those
34 34 34 34 products together.”
10s 1s > x4
© B
: 3333 +120 “If there are 10 or more
®® 136 ones, we must regroup the
©00 0000 | et
120 + 16 34
x4

1
NCETM Mastery Professional Development Materials: https //www ncetm org uk/resources/52830 2.14
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Long multiplication: 3 digit by 2 digit
124x26= 124x26= Ifthere are 10 or more
ones, we must regroup the
124 ones into 10s and 1s.’

Ifthere are 10 or more
124x26 x26 hundreds, we must regroup
then tens into 100s and

744 105

‘If there are 10 or more
2480 | e g

the hundreds into 1000s
3224 and 1005 -

“To multiply a three digit
number by a two digit
number, first multiply by the
ones, then multiply by the
tens and then add them
together.”

NCETM Mastery Professional Development Materials: https//www.ncetm.org.uk/resources/52830 2.23
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Calculation:

Key language: share, group, divide, divided by, half, equal, dividend, divisor, quotient, factor, multple, remainder

Key representations: place value counters, base 10, bead strings, multilink, counters, Numicon, bar model, number fine

Concrete

Pictorial

Abstract

Stem Sentences

Sharing-Partitive: using a range of
discrete concrete objects

6 divided between 2 is equal
to 3each.”

6 shared into 2 equal
groups, there are 3 in each
group.”

s the dividend
2is the divisor
3is the quotient.”

NCETM Mastery Professional Development Materials: hitps://www.ncetm.org.uk/resources/52830 2.6
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Grouping-Quotitive: using a range of
concrete objects

6+2=3

s divided info groups of 2.
There are 3 groups.’

6 divided into groups of 2 is
equalto 3"

“There are 3 groups of 2in 6’

s the dividend
2is the divisor
3is the quotient.’

‘We can skip count using the
divisor to find the quotient.”

NCETM Mastery Professional Development Materi:

ttps://www.ncetm.org uk/resources/52830 2.6
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Grouping-Quotitive: with remainders

BB
HHHH

13-4=

T
012346678091011213

T T T T T T
0123466788910111213

A AN

ER— 4 4

13<4=3r11

3is divided info groups of 4.
There are 3 groups and a
remainder of 1.”

“13 divided into groups of 4
is equal to 3 remainder 1.”

“The remainder is always
less than the divisor.”

If the dividend is not a
‘multiple of the divisor, there
is a remainder.’

NCETM Mastery Professional Development Materials: https//www.ncetm.orq.uk/resources/52830 2.12
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Divide by 10:

130=10= 130=10= 130=10=13
*_ divided by 10 is equal to
100s 10s s _
100 10s s 1 3 0
m— 1 3 *_is ten times smaller
than_"

NCETM Mastery Professional Development Materials: hiips:/www.ncetm_org.uk/resources/52830 2.13,
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g+ to support mental

(Only use when the dividend is beyond
the twelfth multiple. Before the twelfth
multiple, times tables facts should be
used).

56-4= 56-4=

Partitive:
*56 is partitioned into 40 and
16.

40 divided between 4 is
equal to 10 each.

16 divided between 4 is
equal to 4 each.

56 divided between 4 is
equal to 1 ten and 4 ones.

Quotitive:
*56 is partitioned into 40 and
16.

40is divided into groups of
4. There are 10 groups.”

16 divided into groups of 4
is equal to 4."

“There are 14 groups of 4 in
56

NCETM Mastery Professional Development Materials:

hitps://www.ncetm_org.ukiresources/52830 2.15
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‘Short division: partitive: 2 digit by 1
digit (with no exchange)

(Only use when the dividend is beyond
the twelfth multiple. Before the twelfth
multiple, times tables facts should be
used).

84-4= 4fsa

84-4=

84-4=21
8 tens divided between 45
v equal to 2 tens each
o - 418 4 4 ones divided between 4 is

equal to 1 one each.

8tens and 4 ones divided
between 4 is equal to 2 tens
and 1 one, which is 21.

NCETM Mastery Professional Development Mat

hitps://www.ncetm_org.ukiresources/52830 2.15
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‘Short division: quotitive 2 digit by 1
digit (with no exchange)

(Only use when the dividend is beyond
the twelfth multiple. Before the twelfth
multiple, times tables facts should be
used).

84-4= 4fsa

84+4=21

N

#
e

*.
K
:

8 tens are divided info
groups of 4. There are 2
groups.”

“4 ones are divided info
groups of 4. There is 1

group.

2 groups of ten and 1 one is
21. The quotient s 21.

NCETM Mastery Professional Development Materials: https//www.ncetm org.uk/resources/52830 2.15
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‘Short division: quotitive 2 digit by 1
digit (with exchange)

(Only use when the dividend is beyond
the twelfth multiple. Before the twelfth
multiple, times tables facts should be
used).

342+3= 3faa2

342+3= 114

100s 10s 15

114
3342

‘3 hundreds divided by 3 is 1
hundred.

4 tens divided by 3s 1 group
remainder 1 ten.

Exchange 1 ten for 10 ones.

12 ones divided by 3 is equal
o4’

NCETM Mastery Professional Development Materials: https//www.ncetm org.uk/resources/52830 2.15
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Formal division: with 2-digit divisors

Short Division

465+<31=

015
31(4%"5
(it may be helpful to write a list

of multiples of 31 e.g. 31, 62,
93,124, 155)

Long Division
465+31=
015
3114 6 5
31

15
1558

olo o

NCETM Mastery Professional Development Material

- hitps://www.ncetm_org.ukiresources/52830 2.24
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Calculation: Addition

Key language: add, plus, total, altogether, more, sum, part, whole, equal to, column, partition, value, worth, ones, tens, hundreds

Key representations: Base 10, bead strings, multlink, counters, Numicon, bar model, number lines, ten frames, fingers, place value counters, 100 square

Concrete Pictorial Abstract | Stem Sentences
Aggregation-count all
Adding groups to make a whole:
3+4=7 3+4=7 *_plus__isequalto__’

3+4=7

123 4567

123 4556

‘_isequalto__ plus__

*_isthe sumof __and__’
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NCETM Mastery Professional Development Materials: htips://www.ncetm.org.uk/resources/50640 1.5

Augmentation-count on

Count on for addition:
3+4=7 First... then... now’
‘First Jack has 3 sweets,
then he was given 4 more,
now he has 7 sweets’
NCETM Mastery Professional Development Materials: hiips://www ncetm.orq.uklresources/50640 1.6
Bridging through 10: 8+4
8+ 8+2+2=
842+ 8+4
8+2+2= | Firstl partition the 4-2 plus
2equals 4.





image4.png
™ T T Then 8 plus 2 is equal o
8 9 10 il 12 844z 10.
\
2 2 10 plus 2 is equal to 12'

NCETM Mastery Professional Development Materials: htips://www.ncetm_org.uk/resources/50640 1-11

Partitioning and Recom|
support mental addition

32+14=

- |
!
|| I

i
!

32+14=

32+14=

30+10=40
2+4=6
40+6=46

First, | add the tens.
3tensand 1 ten is equal to
4tens.

Then | add the ones.
2 ones and 4 ones is equal
to 6 ones.

4 tens and 6 ones is equal
to 46
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NCETM Mastery Professional Development Materials: https://www.ncetm.orq uk/resources/50640 1.15





